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QUESTION 1

In IBM API Connect, a user is unable to subscribe to a billing Plan with a Product. How can the error be solved?
A. Ensure that the correct version of Node.js is installed

B. Enable or increase the permission level of cookies in the browser settings

C. Close the already started instance of the API Designer in another command window

D. Ensure that there are fewer than 25 instances in the IBM Cloud API Connect service

Correct Answer: D

QUESTION 2

A Node.js application needs to be deployed first on a staging environment to be tested before it is deployed to
production environment . Using the Delivery Pipeline, two Deploy stages were created, one called "DeployToStag
targeting staging environment and the other called "DeployToProd" targeting production environment.

On running the DeployToStag stage it ran successfully while on running the DeployToProd stage it failed
with the following error:
"The route myapp.mybluemix.net is already in use"

Which command in the Deploy script for the DeployToProd stage can fix the error?

A Option

cf push "S${CF_APP)"

B. Option
cf push "S{(CF APP)" no-manifest
C. Option

=L push "S{CF APP)"™ N my-prod—app

0. Option

crf push "5 {({CF App)*®” random—-route

A. Option A

B. Option B
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C. Option C
D. Option D

Correct Answer: D

QUESTION 3

\\'Make the build self testing\\' is one of the features of which capability?
A. Delivery Pipeline

B. Continuous Delivery

C. Continuous Deployment

D. Continuous Integration

Correct Answer: D

QUESTION 4

Using Hyperledger Composer, which block of code correctly emits an event from a business network?
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A. Option

/async function basicEventTransaction(basicEventTransaction)
© | let factory = getFactory():

Wi let basicEvent = factory.newEvent(‘'org. namespace', 'Ba:z
[, emit (basicEvent) ;

|!*t

I&vent {org.namespace.BasicEventTransaction) basicEventTr

function basicEventTransaction{basicEventTransaction)
;l.lnt factory = pgetFactary():
_,qut basicEvent = factory.newEvent ('org.namespace', '"Bas
m.i.t (basicEvent) ; ;

c.
| }-t':-
F ﬂpa::am {forg.namespace.BasicEventTransaction) basicEventT)
' * @event
mr,r
aaync: function basicEventTransaction(basicEventTransaction)
let factory = getFactory():
e let basicEvent = factory.newBEBvent('org.namespace', 'Bas
i emit(basicEvent):
(49
D. Option
iparam {(org.namespace.BasicEventTransaction) basicEventTr:
@transaction
= ; Ep‘unct:xnn basicEventTransaction (basicEventTransaction)
Il!.'. factory = getFactory(): L
e t basicEvent = factory.newEvent('org.namespace', ‘'Basl
'j; (basicEvent) ; i '
e | gl - J_"“
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D
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QUESTION 5

What is a benefit of using the IBM Cloud App ID?

A. Adds authentication to mobile and web applications

B. Fixes broken userlDs that are used to access mobile applications

C. Generates passwords for userlDs that are used to authenticate mobile and web applications

D. Provides a password vault to store userlDs and passwords that are used to access mobile and web applications

Correct Answer: A
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